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KA T 20 21 41 24 55 Uik 4 FHT 304 330 634 268 HANETE 6 FHRT 52 33 85 46 NGRS RS 74 71 145 65
2 34 35 69 30 2O Uk 5 FlT 320 363 683 296 it 3,604 | 3,851 [ 7,455 [ 2,928 g A LR 4 BT 1 X 19 24 43 21
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V4 4578 b 1 KT 432 448 880 325 — DO UKL 8 FKHT 213 214 427 198 S Ik 60 63 123 59 FEREAS 75 2 FKHT 1 A7 51 57 108 39
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It M3 Frd 3 T 323 330 653 263 SO U R 5 &M 260 255 515 215 FEAEAS It 1 FEHT 4 7K 67 85 152 82 25 RERES FL7E 4 /0T 2 71X 91 105 196 75
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= 20 43 48 91 30 & AR H 4 ) 0 0 0 0 RN 2 /T 6 X 93 95 188 70 i 1,932 | 2,010 | 3,942 | 1,359
B2 17 23 40 17 #H 5 &R 0 0 0 0 RS A e 2 /My 7 7K 89 88 177 75
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